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PHAN TRAC NGHIEM (5 diém)

PART 1: Choose the correct answers for each of the following questions ™
(2.5 diém) (0.125 diém/ ciu)

Syntax refers to:

A. Systematic arrangement and positioning of words

B. The smallest meaningful unit

C. word formation technique

D. The smallest unit of a language

ANSWER: A

The open word class of language is a word class that refers to:

A. A word class which new words are able to produce

B. A word class which new words are impossible

C. A word class which a person faces problem in expressing intended ideas
D. A word class which words are borrowed

ANSWER: A

What is a function word?

A. A word that explains grammatical relationship

B. A word through which new words can be formed
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C. Stresses words in a speech

D. A word that consists of meanings
ANSWER: A

“To drive carefully” is an instance of:
A. Infinitive phrase

B. Gerund phrase

C. Participle phrase

D. Verb phrase

ANSWER: A

If a sentence consists of a noun phrase and a verb phrase, its representation is:

A. S = NP+ VP
B. S = VP+ NP
C. S= VP+PP
D. S —=Det+ NP
ANSWER: A

What is the direct object in the sentence, "They sent her a birthday card"?

A. A birthday card

B. They

C. Sent

D. Her

ANSWER: A

In the sentence, "The quick, brown fox jumps over the lazy dog,"” what is the function of
the word "brown"?

A. Modifier

B. Compliment

C. Adjective

D. Nominal

ANSWER: A

What is the object of the preposition in the sentence, "He sat next to the window"?
A. Window

B. Sat

C. Next
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D. He

ANSWER: A

Which of the following is a relative pronoun?

A. Which

B. And

C. Because

D. Quickly

ANSWER: A

Which of the following sentences is an example of an exclamatory sentence?
A. How beautiful the sunset is!

B. She went to the store.

C. The dog barked loudly.

D. He always arrives late.

ANSWER: A

What type of sentence is the following: "The book on the shelf is mine™?
A. Simple

B. Compound

C. Complex

D. Compound-complex

ANSWER: A

What type of sentence is the following: "Although it was raining, they decided to go for
a walk"?

A. Complex

B. Compound

C. Simple

D. Compound-complex

ANSWER: A

Which sentence demonstrates structural ambiguity?
A. "The dog chased the cat with the stick."

B. "l met her at the bank."

C. "He reads the book in the evening."

D. "She plays the piano beautifully."
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ANSWER: A

In English syntax, what do adverbs primarily modify?
A. Verbs

B. Nouns

C. Pronouns

D. Adjectives

ANSWER: A

What is the positional class of the phrase "with a smile™ in the sentence, "She greeted him
with a smile"?

A. Adverbial

B. Adjectival

C. Nominal

D. Verbal

ANSWER: A

Which of the followings is a lexical word?

A. verb

B. pronoun

C. auxiliary

D. determiner

ANSWER: A

Which of the followings is not a type of sentence classified according to structure?
A. exclamative

B. complex

C. compound

D. simple

ANSWER: A

By structure, the sentence “to write complete sentences with ease, learn the parts of a
sentence that are explained in this chapter ” is:

A. complex

B. simple

C. simple with compound predicate

D. compound
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ANSWER: A

By form the underlined part in ‘the whole city celebrated the winning football season’ is

a:
A. noun phrase

B. absolute phrase

C. present participle phrase
D. gerund phrase
ANSWER: A

By form the underlined part in ‘swimming reqularly, I am getting healthier’ is a:

A. present participle phrase

B. noun phrase

C. gerund phrase

D. verb phrase

ANSWER: A

PART 2: Choose the correct answer. (2.5 diém) (0.5 diém/ ciu)

What is each numbered space best replaced with?

1.
Vgrp 2...

AP2 AdvP
PP
3. headA P NP

4. N’2
PossNP headN

feel wvery anxious about ﬁiswi;eis health

A. 1: VP; 2: AP1; 3: DEG; 4: DET
B. 1: AP1; 2: VP; 3: DEG:; 4: DET
C.1: VP; 2: AP1; 3: DET; 4: DEG
D. 1: VP:; 2: AdvP; 3: DEG; 4: DET

ANSWER: A
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Det headN

the  majority of th|e sena|1tes
A. (1): NP1; (2): PP; (3): N
B. (1): N1; (2): PP; (3): N2
C. (1): NP1; (2): NP2; (3): ADJ
D. (1): N1; (2): NP2; (3): ADV
ANSWER: A

NP2

/\

Det 3

/\

N 2.

/\

P NP1

/

1. N

N HeadN

the man in the lab coat

A. (1): Det; (2): PP; (3): NP1; (4): NP2

B. (1): Det; (2): NP1; (3): NP2; (4): NP3

C. (2): Article; (2): NP1; (3): NP2; (4): NP3
D. (1): Article; (2): PP; (3): NP1; (4): NP2
ANSWER: A
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S

I

VASEA
N

Detl HeadN1

Last night, the child found _the puppy.

A. (1): NP1; (2): NP2; (3): NP3
B. (1): NP1; (2): AP; (3): NP2
C. (1): N1; (2): NP1; (3): NP2
D. (1): NP1; (2): NP2; (3): N1
ANSWER: A

%12".:\52
N

T N | T /N

ProN  Vgrp 3’ P‘roN erp 4...
He was ;ee;mg sick, so he went toadoctor.

A. 1: S3; 2: Conj; 3: AP; 4: PP
B. 1: S3; 2: COMP; 3: AP; 4: PP
C.1: NP; 2: Conj; 3: AP; 4: PP
D. 1: S3; 2: Conj; 3: AdvP; 4: PP
ANSWER: A

PHAN TU LUAN (5 diém)
PART 3: Determine the forms, positions, and syntactic of the underlined word in

each of the following sentences. (2.5 diém) (0.5 diém/ cAu)

Cau 1 (0.5 diém): The poor little lizard was waving its tail in a melancholy way, being

quite unable to move.

Pap an Cau 1: Form: Prepositional Phrase (PP) - Function: Modifier (M) -
Position: Averbibal (Aval)
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Cau 2 (0.5 diém): If there should be a nuclear war, some scientists predict that life on
earth as we know it would end for ever.
Pap an Cau 2: Form: Noun Phrase (NP) - Function: Direct Object (DO) -

Position: Nominal (Nal)

Cau 3 (0.5 diém): To speak English well, you must always be willing to practice it.

Pap an Cau 3: Form: Adjective Phrase (AP) - Function: Subject Compliment (SC) -
Position: Adjectival (Ajal)

Cau4 (0.5 diém): “How glad I am to see you” were his first words.

Pap an Cau 4: Form: Noun Clause (NC) - Function: Subject (S) - Position: Nominal
(Nal)

Caub5 (0.5 diém): According to the manufacturer’s guarantee, | should return my new

camera to the factory in the event thatithas something wrong.

Pap an Cau 5: Form: Prepositional Phrase (PP) - Function: Modifier (M) - Position:
Averbial (Aval)

PART 4:The sentences below are ambiguous. Rewrite them in a way which makes
their intended meaning clear and unambiguous.(2.5 diém) (0.5 diém/ ciu)

Cau 1 (0.5 diém): Did you see the man with the telescope?

Pap an Cau 1: Did you use a telescope to see the man?

Cau 2 (0.5 diém): | like cooking dogs and my family.

Pap an Cau 2: I enjoy preparing food for dogs and my family.

Cau 3 (0.5 diém): The man who hunts ducks out on weekends.

Pap an Cau 3: The man who hunts ducks is out on weekends.

Cau 4 (0.5 diém): She told her story to the police driving the car.

DPap an Cau 4: She told her story to the police who were driving the car.

Cau 5 (0.5 diém): | saw the horse jumping over the fence in the field.

DPap an Cau 5: I saw the horse that was jumping over the fence in the field.
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